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N = 0] &8 AF S & AN A
20188 &= 20l A LB H WEXS D,
2N WEXEI
HM: TADEEH} (LD E/HEZTNE - SFEEIIE
G HEXNSIAS=AMEXH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
wWEX S 7,994,027 5,104,513 2,889,514
= 58,806
Al 7,935,221
CANDEELH(=SLWE/HEZTUE - EESIIE} 294,027 304,513 N 10,486
o= 58,806
Al 235,221
HUX SIS AME X 294,027 304,513 N 10,486
=} 58,806
Al 235,221
HIEHEABAI<KEE> 90,679 96,996 ANG6,317
= 33,806
Al 56,873
301 et A= 90,679 96,996 ANG6,317
= 33,806
Al 56,873
11 J|EtE A= 90,679 96,996 NG,317
HAEH &ABMAZS 90,679,000 90,679
&< 33,806
Al 56,873
ANEZAZZHEHE I (EXAEE) 128,348 207,517 ANT79,169
309 MEZ2 126,332 199,117 NT2,785
01 SAH- 2HINMNNEZ 126,332 199,117 NT2,785
OANE 2L Z2C E2EXAEE FadE2 126,332
-HelolnE!HE=E 126,332,000 126,332
404 ZAM2HE2NE2 2,016 8,400 N6,384
01 SAH- 2HAN2HEZ 2,016 8,400 N6,384
OANE 2L Z2C EXNANEE AN=2ds52 2,016
-HelolnsSdHe 2,016,000& 2,016
2T SKE OIS &3 &< X> 75,000 0 75,000
& 25,000
Al 50,000
402 SI2v X0l & 75,000 0 75,000
&< 25,000
Al 50,000
02 CIZtXIE A E X (0| & THS) 75,000 0 75,000
OHDOIEY SHIME ALY 75,000,000& = 14! 75,000
= 25,000
Al 50,000
HEES(NEXNFM) (=LY NE/HZUE - E8SIIEH 7,700,000 4,800,000 2,900,000
WEHN K= 7,700,000 4,800,000 2,900,000
JIEISI HAEE2 7,700,000 4,800,000 2,900,000
701 JIEISI HSEE2 7,700,000 4,800,000 2,900,000
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